MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

(GCF-19, GCF-20, GCF-21, VCF-4, SCF-6 & SCF-7)
DATE: 07.07.2020 MAXIMUM MARKS: 100 TIMING: 32 Hours

MATHS, STATS & REASONING

All Questions is compulsory.

1. Ans. b
Explanation:

f(x) = x° —4x
F(x) = A®—4A

2 3][2 3 2 3
“h 4“1 4}_4{1 4}
7 18] [8 12
|6 19}[4 16}

-1 6
2 3

2. Ans. c
Explanation:
AT = A

5 b 4 5 2 a
2 ¢ d]:b c -3
a -3 -7
a=4, b=2

3. Ans. a
Explanation:

A1=ﬁade

1 3 -5
=ﬁ{—1 2}

3 -5
157

4., Ans. ¢
Explanation:

x(1+5x2j= 4[14—3)(5): 2(1+4X5j
100 100 100
22x= 23y= 24z
x:y:z= 552:528:506

552

" 1586
= 2760

A x 7930
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5.

6.

7.

10.

11.

12.

13.

14.

15.

Ans. a
Ans. b
Ans. c
Ans. b

Ans. d
Explanation:

-1
X -3

X
x-1 = 3x
2x = -1
-1
X = —
2
1
1+—2:1+4:5
X

Ans. c
Explanation:

R 2
D=P|—
(100]

8 2
768 =P | —
(100)

P =1,20,000

Ans. d
Explanation:

E= @+J;)—1xmo
100

2
= (1+ij —1|x100=6.09%
200

Ans. a
Ans. b
Ans. d

Ans. c
Explanation:

(%)
A=P|1+—
100
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[1+105) ¢
672=P1+1— ........ ()

3
r -
714 =P (14‘@] ........ (II)

equation (i)
equation (i)

r

1.0625=1+—
100

r=6.25%

16. Ans. a

Explanation:

Cl=p (HLj _p
100

= 5,000 (1+ij 5,000
100
= 200
2 2
CI=5,000 |1+—=—| —5.000
100

= 202
D = 202-200 = Rs. 2

17. Ans. b

Let the sum borrowed be x. Then,

XXGXZJ XXx9x3j Xx14x4
+ +
100 100 100

3x 27x 14x

95x
&S| —+—+—|=11,400 & —=11,400 © x=
100

25 100 25

Hence, Sum borrowed Rs.12,000

18. Ans. ¢

19. Ans. b

20. Ans. a

21. Ans. a

22, Ans. b

23. Ans. b

) =11,400

11,400x100

):12,000
95

100x2

Xx10x7 Xx12
Let the sum be Rs. x. Then,( ks )—[ . X5]=40

100x2

7X  3x

—-—=40 & X =(40x20) =

20 10
Hence, the sum is Rs. 800.

800.

3|Page



MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

24,

25.

26.

27.

28.

29.

30.

31.

Ans. c
Let the sum be Rs. x. Then,

3
4 127
CoLo = Xn| 1220 | x| o[ 333% x| 127X
3x100 216 216.

127X _1,2700rx=22222210 _; 160,
216 127

Thus,thesumisRs. 2,160.

S.L. :Rs.(2,160><?><3><

L ) ~Rs.1,080.
00

Ans. d

Explanation:

No. of ways = 7C4 X 3C2+ 7C3 X 3Cs
= 105 + 35 = 140

Ans. d

Explanation:

(a,a), (b,b), (c,c) ER A R TAIeT T+ ¥ |

» (a,b) ER and (b,a) ¢ R 3T FAMT T &I T |

« (a,b), (b,c) ER TAT (a,c) & R3IT: R AHHEG T 7Tal B |

Ans. b
Ans. b
Ans. ¢

Ans. c
Explanation:

R

=8

Present value of growing perpetuity =

80

=———=4000
0.07-0.05

Ans. b
Explanation:

2 = 2
or n+2=r+10-r
orn=28
then 8. =[28
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32. Ans. a
1024

log s
:log
log;
_101og?

log,
~10log®  10x0.3010
log,—log, 1-0.3010

1024

33. Ans. b
HIET FH ﬂCI d

a-b a2b2
= X
a+b a2 _.b2

ab
) a+b
34. Ans. d
35. Ans. a
36. Ans. d
37. Ans. c
38. Ans. ¢
39. Ans. b
40. Ans. c
41. Ans. c
42, Ans. c
Explanation:
l4x | Al-x
%dx

3x+3 2-2x
NEE
2x
— j (22X+3 + 22—3X) dX

22X+3 2273X

= + +C
2log2 (-3)log2
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43.

44,

45,

46.

47.

22x+3 22—3x

= — +cC
2log2 3log2

Ans. b

Let the three consecutives
Multiples of 13 is

13x, 13x+13, 13x+26

13x + 13x + 13 + 13x + 26 = 390
39x + 39 = 390

39x = 351

X=9

Second Multiple of 13 = 13x + 13
=13x9 + 13
=130

Ans. b

Explanation:

Ts=a+4d =14 ..............ee. (i)

Ti2 =a+11d =35 ............. (i)

On solving equation (i) and (ii)

a=2

Ans. c

Explanation:

Gl XY G S el 8 10,
WG & @ DRV 7 NG TE G S Aebedl ®
Id AY =10, 7 +1

= 25

Ans. a

Explanation:

f(x)=(x—1)3 +2 (QE?)EB: g I tEGE:$)
AFT(x—1)2 +2=y

(x—1)*=y-2

x=(y—2"3+1

aa fl=(x—2)"3+1

Ans. a
Explanation:
2x% 4+ 5xy + 3y =1
d d
4x+5x—y+5y+6y—y=()
dx dx
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48.

49,

50.

51.

52.

53.

54.

55.

56.

57.

58.

ﬂ_ —4x-5y
dx Sx+6y
Ans. a
Ans. a
Ans. d
Ans. b

Ans. ¢

Explanation:

> 4+x+2=0
x+B=-1,xB=2

(¢ +B)* =>4+ B% + 2 x B

1=0? +B% +4
o4 pE=-3
o« B _ oZ+pZ -3
PreT T T2
Ans. c
Explanation:
TIDI BT FRT = 4P3 x 4!
=24 x 24 = 576
Ans. b
Explanation:

log(a +va? + 1) + log(a +Va? + 1)_1
= log(a +Va? + 1) - log(a +Va? + 1)
=0

Ans. b
Ans. ¢
Ans. b

Ans. c
Explanation:
a=132, | =468
|=a+(n-1)d

468 =132 + (n-1)(12)
n =29

n
Sn=—(a+l
2(a )

S29 = %(132+ 468)=8700
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

Ans. ¢
Ans. a
Ans. b

Ans. a
Explanation:

r
S Value = P(1——)"
crap Value ( 100)

21,870 = P (.9)3
P = Rs. 30,000
Ans. c

Explanation:

SOO:L
1-r

a:2,b=g
5

Ans. a
Ans. a
Ans. a
Ans. a
Ans. c
Ans. d
Ans. a
Ans. d
Ans. b
Ans. b
Ans. b
Ans. c
Ans. c

Ans. d

8|Page



MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

78.

79.

80.

81.

82.

83.

Ans. b
Explanation:
(AUB")
=A'"nB
=B-A

Ans. a
Explanation:

d—leandd—y=—l2
dt t dt t

_ody _dydt _ g1
dx  dx/dt 1 t

=-Yy
X @ WTUeT Jadherd BT W,
d’y _ dy
dx? dx
d’ d
—}2/ + X =0
dx dx
Ans. c
Explanation:
AT=-A
|AT|=]-A|
|Al=-]A]
|Al+]A[=0
2]A|=0
|A]=0
Ans. b
Explanation:
2x+3y>6 Pl © X 318 W (-3, 0)
Y 38T IR (0, 2)

TAT Y, X | SIET 2| 3fa: (B) fdwey w2l 21

Ans. b
Explanation:

efat g SfRdl & G=AT BT ART 10 A AT 8] B TbdT 3d: fdbey b WLl & |

Ans. b
Explanation:

A=Z[1+1)"—1]

_ R 10 _
400000 = —— [(1+0.10) 1]

R = Rs. 25098.16
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84.

85.

86.

87.

88.

89.

90.

91.

92.

Ans. c
Explanation:

fog (x) = flg(x)]

= f(x2+7)

fog(x) = 2 (x?+7) + 7
fog(x) = 2x%+21
—2x>+21=25

X2 =2

x=12
Ans. d

Ans. c

Ans. a

Ans. c

Ans. a

Ans. d
Explanation:
r=-3

s =2 _1<r<i
1-r

Ans. d
Explanation:

i)
A=P|l+——
100

10 )2
1=P|1+—

100
P=0.83

Ans. a
Explanation:
One root = «
Other root = o

-b
Sum = 40c = —
a
-b
oc = _—
4a
C
Product = 3 «2 = —
a
2= &
3a

10| Page



MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

93.

94.

95.

96.
97.

98.

99.

100.

b2

162> 3a
3 b2=16 ac

Ans.
Ans.
Ans.

Ans.

Ans.
Explanation:

E(x—p)* a1 E[x—E(x)]* < & faeRor 2|

Ans.
Explanation:

P(AnB)=1-

2
P(B)=1-—
(B) 3
P(AuB)=1§+

Ans.
Explanation:
Sx+7y—-22=0

6x+2y—-22=0

Ans.

(@

d

d

b
d

C

a

b

Wl ov W
o NS

015
_é__ 4?2

ox=2.64 6

11| Page



